Solving Linear System of Equation by an LP Package:  How do you use a standard LP package such as LINDO to solve the following system of equations?

2X1 + 3X2 + X3 = 4


X1 + X2 - X3 = 3

 
2X1 - 2X2 - X3 =1


Subject to the systems of constraints with all variables being unrestricted in sign. 
We would have to introduce a dummy objective function in order to solve this system of equations by any LP software.  The objective function a MIN function as shown here:  

Min  X1 + X2 + X3

-2X1 - 3X2 - X3 + 6y = 4

-X1 - X2 + X3 + y = 3

 -2X1 + 2X2 + X3 +y =1


All variables are non-negative.

X1         2.000000        The X1 = 1.857143 – 2 =   - 0.142857    

X2         0.000000        The X2 = 1.857143 – 0 = 1.857143
X3         3.142857        The X3 = ​1.857143  - 3.142857  = - 1.285714        

Y  
  ​1.857143  

Check the solution for *
2X1 + 3X2 + X3 = 4

X1 + X2 - X3 = 3     *

2X1 - 2X2 - X3 =1

Goal Seeking Problem: Consider the Carpenter’s Problem. Instead of maximizing his net profit, he wishes to achieve a goal of $100, for this week. That is, 

Goal: 5X1 + 3X2 = $100 


Max X1 + X2  (dummy)

Subject to:

5X1 + 3X2 = 100

2X1 + X2 < 40

X1 + 2X2 < 50 

End

GIN X1

GIN X2

